0.086}

0.084)

0.082

0.078]

010203 04 05 06 07 0.8 09
Cent 0 -1.5<y<-12 1.0<pT<1.8 cos0*

0102 03 04 0506 0.7 0.8 09
Cent 0 -0.4<y<-0.2 1.0<pT<1.8 cos6*

0.004}

0.0035)

0.003]

0.0025

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent 0 0.6<y<0.8 10<pT<18 cos6*

0102 03 0.4 0.5 06 0.7 08 09
Cent0 -1.2<y<-1.0 L0<pT<L8 cos6*

0.4

0.2

0.1 02 03 04 05 0.6 0.7 08 09

Cent 0 0.2 <y<0.0 1.0<pT<18 cos6*

0.5
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0.49|
0.48|
0.47]
0.46|
0.45]

0.44]

0.43|

0 0102 0304 05 06 0.7 0.8 0.9

Cent0 0.8<y<L0 10<pT<18 cos6*

01 02 03 0.4 0.5 06 0.7 08 0.9
Cent0 -1.0<y<-0.8 10<pT<L8 cos6*

0.004)

0.0035

0.003

0.0025

0.002)

0.0015

0.8]

0.6]

0.4

0.2]

010203 0.4 05 06 0.7 0.8 0.9
Cent 0 -0.8<y<-0.6 10<pT<L8 cosO*

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent0 0.0<y<0.2 1.0<pT<1.8 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent0 1.0<y<1.2 1.0<pT<18 cos6*

0.086

0.084)

0.082)

0.078

010203 0.4 05 06 0.7 0.8 0.9
Cent 0 0.2<y<0.4 1.0<pT<18 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent0 1.2<y<15 1.0<pT<18 cos6*

0.8

0.6,

0.4

0.2

010203 04 05 06 0.7 0.8 0.9
Cent0 -0.6<y<-0.4 L0<pT<L8 cos6*

0.8

0.6

04

0.2

0102 03 0.4 05 0.6 0.7 0.8 09
Cent0 0.4<y<0.6 10<pT<1.8 cos6*



0.088|

0.086

0.084}

o 010203 04 05 06 07 0.8 09
Cent1 -1.5<y<-12 1.0<pT<18 cos0*
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Cent 1 0.4 <y<-0.2 1.0<pT<1.8 cos6*
0.0035F —+ B
0.003]
0.0025]
0.002]
0.0015|

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 0.6<y<0.8 10<pT<l8 c0S6*

0102 03 0.4 0.5 06 0.7 08 09
Cent1 -12<y<-10 L0<pT<L8 cos6*

0.4

0.2

0102 03 0.4 0.5 06 0.7 08 09
Cent 1 -0.2<y<0.0 1.0<pT<18 cos6*
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0.48
0.47,
0.46
0.45
0.44
0.43

0.42]

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent1 0.8<y<L0 10<pT<18 cos6*
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0.45]

0.44]

0.43]

01 02 03 0.4 0.5 06 0.7 08 0.9
Cent1 -1.0<y<-0.8 10<pT<L8 cos6*
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0.003

0.0025

0.002)

0.0015

0.8]

0.6]

0.4

0.2]

010203 0.4 05 06 0.7 0.8 0.9
Cent1 -0.8<y<-0.6 10<pT<L8 cosO*

o

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 0.0<y<0.2 1.0<pT<18 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 1.0<y<1.2 10<pT<18 cos6*

0.094|
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0.088
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0.084f

010203 0.4 05 06 0.7 0.8 0.9
Cent1 0.2<y<0.4 1.0<pT<18 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent1 12<y<l5 10<pT<18 cos6*
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0.1 02 03 04 05 0.6 0.7 08 09

Cent 1 -0.6 <y<-0.4 1.0<pT<1.8

cosf*
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04
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Cent1 0.4<y<0.6 10<pT<18
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0.094}

0.092

0.088]

0.086}

010203 04 0506 07 0.8 09
Cent2 -1.5<y<-12 1.0<pT<1.8 cos0*

0102 03 04 0506 0.7 0.8 09
Cent2 -0.4<y<-0.2 1.0<pT<18 cos6*

0.0035

0.003]

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent2 0.6<y<0.8 10<pT<18 cos6*

0102 03 0.4 0.5 06 0.7 08 09
Cent2 -1.2<y<-10 L0<pT<L8 cos6*

0.8]

0.6]

0.4]

0.2}

0102 03 0.4 0.5 06 0.7 08 09
Cent 2 -0.2<y<0.0 10<pT<18 cos6*
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0.42]
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Cent2 0.8<y<L0 10<pT<18 cos6*

01 02 03 0.4 0.5 06 0.7 08 0.9
Cent2 -1.0<y<-0.8 10<pT<L8 cos6*
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0.0015

010203 04 05 06 0.7 0.8 0.9
Cent2 -0.8<y<-0.6 10<pT<L8 cos6*
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o
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Cent2 0.0<y<0.2 1.0<pT<1.8 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent2 1.0<y<1.2 1.0<pT<18 cos6*
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010203 0.4 05 06 0.7 0.8 0.9
Cent 2 0.2<y<0.4 1.0<pT<18 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent2 1.2<y<15 10<pT<18 cos6*
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0.4
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010203 04 05 06 07 0.8 0.9
Cent2 -0.6<y<-0.4 L0<pT<L8 cos6*

0.8

0.6

04

0.2

0170.2°0370.4 05 0.6 0.7 0.8 0.9
Cent2 0.4<y<0.6 10<pT<18 cos6*
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0.0

010203 04 05 06 07 0.8 09
Cent3 -1.5<y<12 1.0<pT<1.8 cos0*

0102 03 04 0506 0.7 0.8 09
Cent3 -0.4<y<-0.2 1.0<pT<1.8 cos6*

0.0035

0.003]

0.0025

0.002

0.0015)

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent3 0.6<y<0.8 10<pT<18 coS6*

0.8]

0.6]

0.4]

0.2}

0102 03 0.4 0.5 06 0.7 08 09
Cent3 -1.2<y<-10 L0<pT<L8 cos6*

0102 03 0.4 0.5 06 0.7 08 09
Cent 3 -0.2<y<0.0 1.0<pT<18 cos6*

0.45]
0.44]
0.43]

0.42|

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent3 0.8<y<L0 10<pT<18 cos6*

01 02 03 0.4 0.5 06 0.7 08 0.9
Cent3 -1.0<y<-0.8 10<pT<L8 cos6*
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0.0025

0.002f
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010203 04 05 06 0.7 0.8 0.9
Cent 3 -0.8<y<-0.6 10<pT<L8 cosO*
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0.6]

0.4

0.2]

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent3 0.0<y<0.2 1.0<pT<1.8 cos6*

010203 0.4 05 06 0.7 0.8 0.9
Cent3 0.2<y<0.4 1.0<pT<18 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent3 1.0<y<1.2 1.0<pT<18 cos6*
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0.2

0102 03 0.4 05 0.6 0.7 0.8 09
Cent3 0.4<y<0.6 10<pT<1.8 cos6*



010203 04 0506 07 0.8 09
Cent 0 -1.5<y<-12 18<pT<3.0 cos0*

0102 03 04 0506 0.7 0.8 09
Cent 0 -0.4<y<-0.2 18<pT<3.0 cos6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent 0 0.6<y<0.8 18<pT<3.0 coS6*

——

0102 03 0.4 0.5 06 0.7 08 09
Cent0 -1.2<y<-10 18<pT<3.0 cos6*

0.8]

0.6]

0.4]

0.2}

01702 0.3 04 05 06 0.7 0.8 09
Cent 0 -0.2<y<0.0 1.8<pT<30 oSO

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent0 0.8<y<L0 18<pT<3.0 cos6*

0.8]

0.6]

0.4]

0.2]

01 02 0.3 0.4 0.5 06 0.7 08 0.9
Cent0 -1.0<y<-0.8 18<pT<3.0 cos6*

0.8]

0.6]

0.4

0.2]

0102 03 0.4 05 06 0.7 0.8 0.9
Cent 0 -0.8<y<-0.6 18<pT<3.0 cos6*

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent0 0.0<y<0.2 18<pT<3.0 cos6*

0102 0.3 0.4 05 0.6 0.7 0.8 09
Cent0 0.2<y<0.4 18<pT<3.0 cos6*

0.445)

0.44]

0.435

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent0 1.0<y<1.2 18<pT<3.0 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent0 1.2<y<15 18<pT<3.0 cos6*

0.8

0.6,

0.4

0.2

0.8

0.6

04

0.2

010203 04 0506 07 0.8 0.9
Cent0 -0.6<y<-0.4 1.8<pT<3.0 cos6*

0102 03 0.4 05 0.6 0.7 0.8 09
Cent0 0.4<y<0.6 18<pT<3.0 cos6*



010203 04 0506 07 0.8 09
Cent1 -1.5<y<-12 18<pT<3.0 cos0*

0102 03 04 0506 0.7 0.8 09
Cent1 -0.4<y<-0.2 18<pT<3.0 cos6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 0.6<y<0.8 18<pT<3.0 cos6*

0102 03 0.4 0.5 06 0.7 08 09
Cent1 -12<y<-10 18<pT<3.0 cos6*

0.8]

0.6]

0.4]

0.2}

0102 03 0.4 0.5 06 0.7 08 09
Cent 1 -0.2<y<0.0 18<pT<3.0 cos6*

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent1 0.8<y<L0 18<pT<3.0 cos6*
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010203 04 0506 0.7 08 09 1 %0"0.170.270.370.4 05 0.6 0.7 08 08
Cent1 -1.0<y<-0.8 18<pT<30 cos6* Cent1 -0.8<y<-0.6 18<pT<3.0 cos6*
1 B i+ ]
0. - o8 ]
0.6 - o6 ]
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0.2) - 02F ]

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent1 0.0<y<0.2 18<pT<3.0 cos6*
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0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 1.0<y<12 18<pT<3.0 cos6*

010203 0.4 05 06 0.7 0.8 0.9
Cent1 0.2<y<0.4 18<pT<3.0 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent1 12<y<15 18<pT<3.0 cos6*

0.8

0.6,

0.4

0.2

010203 04 05 06 07 0.8 0.9
Cent1 -0.6<y<-0.4 18<pT<3.0 cos6*

0.8

0.6

04

0.2

0102 03 0.4 05 0.6 0.7 0.8 09
Cent1 0.4<y<0.6 18<pT<3.0 cos6*



010203 04 05 06 07 0.8 09
Cent2 -1.5<y<-12 18<pT<3.0 cos0*

0102 03 04 0506 0.7 0.8 09
Cent2 -0.4<y<-0.2 18<pT<3.0 cos6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent2 0.6<y<0.8 18<pT<3.0 cos6*

0.8]

0.6]

0.4]

0.2]

0102 03 0.4 0.5 06 0.7 08 09
Cent2 -1.2<y<-10 18<pT<3.0 cos6*

0.8]

0.6]

0.4]

0.2}

01702 0.3 04 05 06 0.7 0.8 09
Cent2 -0.2<y<0.0 1.8<pT<30 oSO

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent2 0.8<y<L0 18<pT<3.0 cos6*

01 02 03 0.4 0.5 06 0.7 08 0.9
Cent2 -1.0<y<-0.8 18<pT<3.0 cos6*

0102 03 0.4 05 06 0.7 0.8 0.9
Cent 2 -0.8<y<-0.6 18<pT<3.0 cos6*

0.8]

0.6]

0.4

0.2]

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent2 0.0<y<0.2 18<pT<3.0 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent2 1.0<y<1.2 18<pT<3.0 cos6*

0102 0.3 0.4 05 0.6 0.7 0.8 09
Cent2 0.2<y<0.4 18<pT<3.0 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent2 1.2<y<15 18<pT<3.0 cos6*

0.8

0.6,

0.4

0.2

010203 04 05 06 0.7 0.8 0.9
Cent2 -0.6<y<-0.4 18<pT<3.0 cos6*

0.8

0.6

04

0.2

0102 03 0.4 05 0.6 0.7 0.8 09
Cent2 0.4<y<0.6 18<pT<3.0 cos6*



010203 04 05 06 0.7 0.8 09
Cent3 -1.5<y<-12 18<pT<3.0 cos0*

0102 03 04 0506 0.7 0.8 09
Cent3 -0.4<y<-0.2 18<pT<3.0 cos6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent3 0.6<y<0.8 18<pT<3.0 c0S6*

0102 03 0.4 0.5 06 0.7 08 09
Cent3 -1.2<y<-10 18<pT<3.0 cos6*
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Cent 3 -0.2<y<0.0 1.8<pT<30 oSO
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0.125}
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0.

1
0 0102 0304 05 06 0.7 0.8 0.9

Cent3 0.8<y<L.0 18<pT<3.0 cos6*
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01 02 03 0.4 0.5 06 0.7 08 0.9 %0"0.170.270.370.4 05 0.6 0.7 08 08
Cent3 -1.0<y<-0.8 18<pT<3.0 cos6* Cent 3 -0.8<y<-0.6 18<pT<3.0 cos6*
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o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent3 0.0<y<0.2 18<pT<3.0 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent3 1.0<y<1.2 18<pT<3.0 cos6*

0102 0.3 0.4 05 0.6 0.7 0.8 09
Cent3 0.2<y<0.4 18<pT<3.0 cos6*

0.1 0.2 0.3 0.4 05 06 0.7 0.8 0.9
Cent3 1.2<y<15 18<pT<3.0 cos6*

0.8

0.6,

0.4

0.2

010203 04 05 06 0.7 0.8 0.9
Cent3 -0.6<y<-0.4 18<pT<3.0 cos6*

0.8

0.6

04

0.2

0102 03 0.4 05 0.6 0.7 0.8 09
Cent3 0.4<y<0.6 18<pT<3.0 cos6*



0.735|

0.725|

0.715}

010203 04 0506 07 0.8 09
Cent 0 -1.5 <y<-12 3.0<pT<5.0 cosO*

0102 03 04 0506 0.7 0.8 09
Cent 0 -0.4<y<-0.2 3.0<pT<5.0 cOS6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent 0 0.6<y<0.8 3.0<pT<5.0 cOS6*

0102 03 0.4 0.5 06 0.7 08 09
Cent0 -1.2<y<-1.0 3.0<pT<5.0 cos6*
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0.4]
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01702 0.3 04 05 06 0.7 0.8 09
Cent 0 -0.2<y<0.0 3.0<pT<5.0 cOSH*
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Cent 0 0.8<y<L.0 3.0<pT<5.0 cOS6*
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0102 03 04 0506 0.7 08 09 1
Cent 0 -1.0<y<-0.8 3.0<pT<5.0 coSB*

0102 03 0.4 05 06 0.7 0.8 0.9
Cent 0 -0.8<y<-0.6 3.0<pT<5.0 coSO*

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent0 0.0 <y<0.2 3.0<pT<5.0 cos6*
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Cent0 1.0 <y<1.2 3.0<pT<5.0 cos6*
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Cent0 1.2<y<15 3.0<pT<5.0 cos6*
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Cent 0 -0.6<y<-0.4 3.0<pT<5.0 cosB*

0102 03 0.4 05 0.6 0.7 0.8 09
Cent0 0.4 <y<0.6 3.0<pT<5.0 cos6*
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010203 04 05 06 0.7 0.8 09
Cent1 -1.5<y<-12 3.0<pT<5.0 cos0*

0102 03 04 0506 0.7 0.8 09
Cent1 -0.4<y<-0.2 3.0<pT<5.0 coS6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent 1 0.6<y<0.8 3.0<pT<5.0 cOS6*

0102 03 0.4 0.5 06 0.7 08 09
Cent1 -1.2<y<-10 3.0<pT<50 cos6*
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0102 03 0.4 0.5 06 0.7 08 09
Cent 1 0.2 <y<0.0 3.0<pT<5.0 cos6*

0.1 0.2 0.3 0.4 0.5 0.6 0.7 08 0.9
Cent1 0.8<y<L0 3.0<pT<5.0 coS6*
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01 02 0.3 0.4 0.5 06 0.7 08 0.9
Cent1 -1.0<y<-0.8 3.0<pT<5.0 cos6*

0102 03 04 05 06 0.7 0.8 0.9
Cent 1 -0.8<y<-0.6 3.0<pT<5.0 cosO*

o

0102 0.3 0.4 05 06 0.7 0.8 09
Cent1 0.0<y<0.2 3.0<pT<5.0 cos6*

0.1 02 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent1 1.0<y<1.2 3.0<pT<5.0 cos6*
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Cent 1 0.2<y<0.4 3.0<pT<5.0 cos6*
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Cent1 1.2<y<15 3.0<pT<5.0 cos6*
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04
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010203 04 0506 07 0.8 0.9
Cent1 -0.6<y<-0.4 3.0<pT<5.0 cos6*

0102 03 0.4 05 0.6 0.7 0.8 09
Cent1 0.4<y<0.6 3.0<pT<5.0 cos6*
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0.728]
0.726|
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010203 04 0506 0.7 0.8 09
Cent2 -1.5<y<-12 3.0<pT<5.0 cosO*

0102 03 04 0506 0.7 0.8 09
Cent2 -0.4<y<-0.2 3.0<pT<5.0 coS6*

0102 0.3 0.4 0.5 06 0.7 0.8 0.9
Cent2 0.6<y<0.8 3.0<pT<5.0 cOS6*
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Cent2 -1.2<y<-1.0 3.0<pT<5.0 cos6*
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Cent 2 -0.2<y<0.0 3.0<pT<5.0 cOSO*
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0.038]
0.036)
0.034}
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